AL—2 [(N)LDA—=] #HE1ER4E

Ni1,2 {SS—S3165) ZER
B0 3084 x B{T 6516 X /552450
HaEs HaES [Haf B |(HaES HaES |[Has 1E %k
G253M0010000| ZE&# B 1 G-3681 | G35300870020 [R T2 4 2
v-3710 |G253M0030000|5&# AT 1 990 x 130 X 70 8.4 kg)
G265M0020000|ZE & #% #% 1 | |vs-0043|vss3mo200000/8E, s % | 3
G265M0040000| 5 E&# % 1 2050 X 695 x 100 18 kg)
3485 x 170 X 110 203 kg) |vs-0043|vs53Mo200000]88/ ¢l % | 3
G353M0050000(#% & # 1 2050 X 695 X 100 18 kg)
V-8511 |G353M0120000|# 4 1 | |vs-0043|vss3mo200000/8E, s % | 3
G353M0130000| BiT#HT 1 2050 X 695 X 100 18 kg)
3115 x 200 X 105 157 kg) | VvS-0043|vs53mM020000082/ 8kl K | 3
VS-0020 | $253M0060010 AlIO—F—H# & 1 2050 % 695 % 100 18 kg)
S$253M0070010|gIO—4+—4% & 1 |VS—OO43|V853M0200000 BRI K | 3
2865 % 200 % 180 (249 ke) 2050 % 695 % 100 18 kg)
VS-0021 |G253M0080000|#1—F—#t % i | [vs-0043|vss3mo200000[82/ 5,1 % | 3
G253M0090000|#&0—F—# & 1 2050 X 695 X 100 18 kg)
2170 X 110 X 80 (85 kg) | VS-0047 |G253M021 0000|BE/SRJL /s | 2
| VS-0023 | G253M0100000| FE A | 8 | 2050 X 510 X 70 9.4 kg)
2090 X 105 X 55 (141 kg) VS-3543 | VS53M0200000| B¢/ SR)L K 2
|vs—o723 |G253M0100000|EPF'§1$I | 10 | G353M0220000(B¥/ SR JL I 1
2090 X 140 X 55 (176 _kg) 2050 X 695 X 100 14.2 kg)
|vs—ooz4|G253M0110000|EP£E$I | 2 | F253M0330010[E4R/KE1Y Z i 1
2245 X 245 X 145 (156 kg) F253M0350010 [E4R/KEIY AR 1
G353M3140000(F RFESHE 1 F265M0340010 | E#E/KE1Y E#& 1
V-S3530 | G35303240000 | f R £} B A #4 1 SS-3755|F265M0360010|EB4R/ktNY Hik 1
G353M3150000|— i & (yudpY)SHE 1 F253M0470010 (& #/KENY ZEHEHI 2
G35303250000 | — & B E N 44 1 F453M0500010 & #kE1Y # 6
3055 X% 145 % 110 (375 kg) G25300630000 | O & E E 4 2
V-S3032 | G353M3150000| — B (R&HY)SE 2 3585 X 222 X 98 26.4 kg)
G35303250000 | — iR A4 2 | S-3682% | G353*0710000|J§/\°3?~)lz th | 2
3055 X 140 X 87 (367 kg) 2840 X 285 X 95 11.6_kg)
V-53032 | G353M3150000 —iBE (\HY)SH 2 | S-3682% | G353*0710000|J§/\°$)|, th | 2
G35303250000 | —fiF AR 44 2 2840 X 285 X 95 11.6_kg)
3055 X 140 X 87 (367 kg) | S-3682% | G353*0710000|J§/\°:?~)l/ s | 2
V-S3032 | G353M3150000| — B (R&HY)SE 2 2840 X 285 X 95 11.6_kg)
G35303250000 |— iR N4 2 | S-3682% | G353*071oooo|;§/\°:?~)b th | 2
3055 X 140 X 87 (367 kg) 2840 X 285 X 95 11.6_kg)
ss-3533 | F393M0180000 | Fi/\— 1 | S—3684*|G353*0710000|J§/\°:?~)l/ s | 1
G353M0280000 |EF4E 1 2840 x 285 X 52 59 kg)
3085 % 197 x 78 (116 kg) S-3683% | G353*%0720000 | BE/ N4 )L (&) 1
G353M0270000| BT 1E #E 4R 1 G353%0730010 | B/ SRJL T 1
v-3545 |G353M0680000| FE4RAE A1/ \— 1 2840 x 310 X 95 15 kg)
I55C-615| 1399813130 |#=C48 ¢ 61 x 2400 |
2400 X 61 X 61 0.8 kg)
3100 X 430 x 150 (154 kg)
V-2036 |G253M0230000|7% fLHEtR &I 1
G253M0250000| =1L $E4R il 1 KEBAES-HABFSOHIAESESHR
3120%x410x 110 (202 kg)
v-3737 |G265M0240000|ZLREHR % 1
G265M0260000| H1E$EHR 1% 1
3590 X 310 X 105 (175 kg)
G253M0370000|#&L—)L 2
S253M0380000|/=TL—JL % 1
VS-2680|5253M0390000|/=TL—JL A& 1
G253M0450000| R T4 H/3— 2
2000040048 |FESIZTFIF#E 1
2782 %127 %55 ( 128 keg)




AHL—2 [RILTDA—] {HEIEA%E

Nv22 (SS—S3165) ZER
fE1 0 3084 x B{T 6516 X 552450
WaEs | Ha%s [H84% By | HEass | HeFs [H#54 REEd
G253M0400000|RL—JL 2 X INOFEDDAHHRE
G253M0410000|#L—ILIEHEE 6 | | s-2660 [F253M0290000| 2484k i | 2
G253M0420000|#L—ILIEHEE # 2 3576 X 785 X 70 (269 kg)
G253M0430020|;BE4& £ 1 | | s-2660 |F253M0290000|E1B4R Fi | 2
G253M0440020|;B8E& A 1 3576 X 785 X 70 ( 26.9 kg)
GYOOMO0810020| F & (k) 2 | | s-3761 [F265M0310000| 2181k 1% | 2
GYOOMO0820040| FE (TF) & 1 3576 X 785 X 70 (269 kg)
GYOOMO830040|FE(F) A 1 | s-3761 [F265M0310000| 248k #% | 2
GYO0M0840000)| i & 10 3576 X 785 x 70 ( 269 keg)
GYOOMO0850020(#% & (FE 1) & 9 X fEEBOIERDT
GYOOMO0860020|# & (FE ) A 9 | |S-z2660|Fz53M0290000|E4BiR B (EEREAR) | 2
G25300460000 | RS YL AR—H— 2 3576 X 785 X 70 (269 kg)
S253M0510000 |~ vave 8 & 1 | [S-z2660|Fz53M0290000|E4B4R BT (EERAR) | 2
S253M0520000 |V viavE€B A 1 3576 X 785 X 70 (269 kg)
$25300530000 |12 UEES 2 | |s-z3761[Fz65M0310000| 2484k % (EERE/VHA) | 2
S253M0540000 |7 vi a2t 2 3576 X 785 X 70 (269 kg)
G25300510000 |[A 7> h—EE 2 | |s-z3761[Fz65M0310000|B4B4R % (EER/LVA) | 2
G25300520000 (& #t=£E 2 3576 X 785 x 70 ( 269 kg)
4984800358 |{b¥fa—4— & 1 X fEEROIRET
4984800359 |{t¥ta—7+— A 1 FZ53M0330010| B4Rk 1Y ZERIGKEE R R) 1
G25300560000 |EFFEIEHEE 2 FZ53M0350010| E4R/Kt1Y HAEIGEEZR L R) 1
G253M0570010|EfRHU KL 45 FZ65M0340010|EAR/KEIY ERGEFE=RRAA) 1
4984800360 |&#yNH/\— 6 SS-Z3759 FZ65M0360010| E1R/KtIY H#EGEEEZERLR) 1
G253M0590000| EiRO—+—H/\—RIAL 1 F253M0470010 (& #/KE1Y ZEAEI 2
G253M0600000| BiRa—F—H/\—RiH 1 F453M0500010 (& #/KE1Y # 6
G253M0610000| B Ra—F—Hh/\—% & 1 G25300630000 | B Ok & 7 #& 2
G253M0620000|BRa—4+—H/\—%H 1 3585 x 225 x 103 ( 26.4 kg)
G25300650000 |RT{E#EtRIEDHEE L 1
G25300660000 |R{L#EHRIEDHEET 1
4989800133 |74% D254 ED4) 2 * ENODER G (T —ARIEER I L CELDERTY .
4989800104 |DA¥—4)vT ®4H 3 _ _
GY0001000000 | 7> h—1% 2 B l EREST |
$§-53702| [ |Fup—k(FuhTveaD) | 4 1R 23 Ef) 8
401811002 | (BT ILFyMEFRR) 34{HE 595 kg 703 kg |
4986300114 [fhKT—F (ESV) 2
4985700097 |7RFryT D17 14
4985700109 |RL7vFyvT 4 BigEs FEEX BB S (%) WEES(*)
4985700026 |[RLF¥yT 50 | |SS-S3165W| L—>7kTAk W W
4986000033 |[FZx)Lb/XwF> (6x20X%5) 46 | |SS-S3165S|HILT7— )L/N— S S
4401806023 |EiRFES 46
4985700126 |RiRF M6Fxvv7 46
4401506001 |M6+ vk (158) 46
*| 4401206125 |[M6 x 55+ LARZNAR Lk 29
*| 4401206127 |[M6 x 75+t ARZNA R Lk 4
4401206123 |M6 X 40+t LRZNAR LMES | 56
4401206122 |M6 X 20+t LARZNA R W MES 4
4401206117 |M6 X 16+t ARNAR LMESE | 241
4400360008 |M6 X 12+&54al 22
*| 4401506029 (M6 ftENRATVE 104
4400350087 |M5 x 12+7E~X4l 134
4401205032 |5x 12770 fH+RAsve v 1@ 47
4401204014 |[Y—ILfFPANTHZR4aL(4 X 13) 13
4401208033 |M8 x 2077 % {F=/AK ILE 2
4401508017 |M8T7S U FERAFTYE 2
4984800317 |##E :60(APEAIVIL30) 3
4984800215 |T)L7R60-80° 1
4401204015 |PANTH X4l (4% 16) 10
4985700017 |fE{+45 OAYk(SG-50A) 1
4985700099 |[THARRLEIHF v 6
4987200021 |3—F2 45 FI(K) 1
4989800094 |A 1)L 1
4989800135 |#R[EER!—TP8 2
4987200002 |fEIEEF 1
5405340212 |{RiF= 1
4201898224 |#HIEEH (Fo2 T L—) 1
EG11SC000000|#A 37 FBAE (SR &) 1
*[EG11SCS00050|#H 3 ERBAE (FBER) 1
425% 330 % 270 ( 18.7 ke)




HL—2 [ RNILT7A—<] ERER 1R B
12 (SS—S3165L)

513 3084 X BL1T 6516 X &= =2450

ZEH

HaEs HMaES |EH&H 3 HWaEs | HLaES |HBad 1E %k
G353M0050000| & & #% 1 F253M1100000 | B4R 51/ \—Ail 1
V-3511 |G353M0120000|# #7 1 F253M1110000 | B4R H/\—r 1
G353M0130000| HiT#T 1 Ss-L760 |F260M1120000| EHRA/\—h i 1
3115 X 200 X 105 (157 kg) F265M1130000 | E1R 51/ \—%% (6516) 1
VS-L020 [S253M1010000|Bil4E&E 4§ 1 F453M0500010 [& #:K 1Y) £ 2
2950 X 340 X 160 (287 kg) G25300630000 | [E Ok Bl E £ 2
VS-L021 [G253M1020000| 1% 4+ 8 4% 1 2099 X 370 X 50 18.4 kg)
2215 X 150 X 85 (_10.6 kg) VS-0042 |VS53M0200000| B2/ SR )L K 2
VS-L623 [G253M0100000| F fEl 4% 4 2050 X 695 X 70 12.8 kg)
2090 X 60 X 55 (71 kg) VS-3543 | VS53M0200000| 8/ SR)L K 2
V-L556 | G253M1030000|:Z#il 1 G353M0220000| B¢/ SR JL 3k 1
2955 X 460 X 140 (30 kg 2050 X 695 X 100 14.2 kg)
V-L577 [G265M1040000[21% 1 S-3682% [ G353+0710000 |FE/\RJL 2
3490 X 365 X 140 (298 kg) 2840 X 285 X 95 11.6_kg)
G25301050000 |2 E#HEEE TH 1 S-3682% | G353*0710000 [FE/SRJL H 2
V-LOSS5 |G253M1060000[:2 &L E T4t 1 2840 X 285 X 95 11.6_kg)
G253M1070000| 2:&E#EEE Lot 1 S-3682% [ G353+0710000 |FE/\RJL 2
1040 % 70 X 60 (6.4 keg) 2840 % 285 X 95 11.6 kg)
G353M3140000|F R ESE 1 S-3682% | G353*0710000 |FE/SRJL & 2
V-53530 | G35303240000 | RBENHM 1 2840 x 285 X 95 11.6_kg)
G353M3150000|—fi&FFE (5 dpY)SH 1 S-3684x* | G353*%0710000 [FE/SRJL & 1
G35303250000 | — A% R EN# 1 2840 x 285 X 52 5.9 kg)
3055 % 145 % 110 (375 kg) S-3683% | G353%0720000 |BE/ S )L (FEft) 1
V-S3032 |G353M3150000(— R (R&HY) SE 2 G353%0730010 |FE/S:JL T 1
G35303250000 | — A% R E N 2 2840 x 310 X 95 15 kg)
3055 X 140 x 87 (_36.7 kg) 5SC-615[ 1399813130 [/=TKE ¢ 61 % 2400 1
V-S3032 |G353M3150000|— i E (R&HY)SH 2 2400 X 61 X 61 0.8 kg)
G35303250000 | — i3 B E N+ 2
3055 x 140 x 87 (36.7 keg)
V-S3032 | G353M3150000|—fEBE (R%HY)SH 2 XM RES-HABSOEIBEESESER
G35303250000 | — i B E N 2
3055 x 140 x 87 ( 36.7 kg)
VS-SL025|S253M3510000 |3z 4 1
2470 X 65 X 65 (109 kg)
ss-3533 | F353M0180000 BiH/N— 1
G353M0280000| EF 48 1
3085 % 197 X 78 (116 keg)
G353M0270000|Bij 1t 4E#R 1
v-3545 |G353M0680000|E4RATEI//\— 1
3100 X 430 x 150 (154 kg)
G253M0370000|#L— )L 2
S253M0380000(=TL—JL & 1
VS-2680 [5253M0390000{f=TL—JL A 1
G253M0450000| R T4 Hsi8— 2
2000040048 |[E5IEFIF# 1
2782 %127 X 55 (128 kg)
G-3681 | G35300870020 (R FY> 4 2
990 x 130 X 70 ( 84 kg




HL—2 [(RILDA—<] EHEL 8= A

22 (SS—S3165L) SEFEH
0 3084 x BT 6516 X & 52450
BaEs | HRES [H54% Bx| (Hags | #N285s |[H54 REEd
G253M1080000| R EFEZ T £ EEHK 2 X INOFE D DAHRE
G253M1140000| & =2 B8 1% 1 | [ S-2660 |F253M0290000|R#R#R Al | 2 |
G25301150000 |FTE#EAR#E = & B EH 1 3576 x 785 X 70 (269 kg)
G25301160000 |EFREfE S & ELERK 1 | S-2660 |F253M0290000| 2484k Bl | 2
G253M1170000|RiT 1k #EHRE R A/ N — 1 3576 X 785 X 70 (269 keg)
*[G253M3520000| X REME £ B 2 | [[s-3761 [F265M0310000]E1BIR #% [ 2]
*| G25303530000 | TFT£E 1 3576 x 785 X 70 ( 269 kg)
*| 095E00013000 |7 ¥ R 4— 2 | | s-3761 |F265M0310000| B1E#R #% | 2 |
G253M0400000|RL— )L 2 3576 x 785 X 70 ( 269 kg)
G253M0410000(#&L —)LILHEE 6 X HEERORET
G253M0420000|#L—ILIEHEE % 2 | S-7z2660 | FZ53M0290000| B4R 4R i (EZHAE) | 2 |
G253M0430020[/BE& & 1 3576 X 785 X 70 ( 26.9 kg)
G253M0440020[;BEE A 1 | S-22660 |FZ53M0290000| BB 4R &1 (#&FEiH4H) | 2
GYOOMO0810020(F E (k) 2 3576 x 785 X 70 (269 kg)
GYOOMO0820040| F & (F) & 1 | S-23761 [FZ65M0310000| 2484k % (EERE/LVHA) | 2 |
GYOOMO830040|FE (F)H 1 3576 X 785 X 70 ( 26.9 kg)
GY0OMO0840000| i 2& 10 | [S-z3761[FZ65M0310000| B4R % GEZFLH) | 2
GYOOMO0850020|8% & (FE (1) & 9 3576 X 785 X 70 ( 269 kg)
GYOOMO0860020(#% & (FE ) A 9 X SRR
G25300460000 | RTYL YT AR—H— 2 FZ53M1100000| B D/ \—RIEEZ R H) 1
S$253M0510000|FEY v av£E & 1 FZ53M1110000| 2B H/\—h(#EER A B) 1
S253M0520000| Vv av£E A 1 sS-7L760 FZ60M1120000 ERAH/N—hRGEZR LD FH) 1
$25300530000 |12 U4 2 FZ65M1130000|EBH/\—1% (6516) $EFZBA H) 1
S253M0540000 (Vv ar =zt 2 F453M0500010 | & #KE1Y 2
G25300560000 |EFELEHEE 2 G25300630000 |5 O 1= B FE 2
G253M0570010( BB H KL 45 2099 x 370 X 50 ( 184 kg)
4984800360 |&#y\h/N\— 2 * ENODER & (& —ARAZHE R BRI L CTER SR TT .
G253M0590000| BHRa3—F—H/\—Hil & 1 _ _
G253M0600000| B4R 3I—F—H/\—&TH 1 Bt I EBRIRET |
G253M0610000| B4Ea—F—H/\—#% & 1 HH B8k E-§) Ef
G253M0620000| BHRa—F—Hh/\—%&H 1 278 & 469 ke | 576 kg
G25300650000 |AT{E#ERIEHEE £ 1
G25300660000 |FT{EFEARLEHER T 1
4989800133 |7A4Y¥ P25(5FD4) 2
SS-sLs70z 4989800104 |JA4v¥—41)v7 ©4H 3
*[ GY0001000000 |7 > h—iE 1 HEES =R BB () WEES(*)
22 T AR (Fuk Ty r B L) 4 SS-S3165LW|  L—>RTI Ak w w
as01811002 | (BT ILFIMMERR) SS-S3165LS| HILT7— JL/N— S S
4986300114 |BA/KT—T (ES) 3
4985700026 | L¥¥vT 20
4986000033 |Zx)Lb/NyF 2 (6x20x5) 46
4401806023 |RiRES 46
4985700126 |ERA M6¥+vyJ 46
4401506001 |M6F vk (17%) 46
*| 4401206125 [M6 x 55+t AR/ NEK b 29
*| 4401206127 |M6 X 75+t LAR/NE R b 4
4401206123 |M6 X 40+t AR /NE R L MESE 12
4401206122 |M6 X 20+t AR/NHF IWMESE 4
4401206117 |M6 X 16+t LANAN LMESK | 158
4400360008 |M6 X 12+&54aL 22
*| 4401506029 |M6T7S I ftENATVE 47
4400350087 |M5 X 12+ 4l 134
4401205032 |5x 1275 Y ft+7x A4t v C1id 47
4401208034 |M8 x 75t LR/NAMRILE 10
x| 4401208033 |M8 X 2077 Y {HE/NHF Wb 33
4401508017 |M8T7S I ftERAF Yk 18
4401204014 |Y=I{FPANTIAHL(4 X 13) 5
4984800317 [#ZE :60(APEAITIL30) 3
4984800215 |T)L7R60-80° 1
4401204015 |PANTZRXHL (4% 16) 10
4985700017 |fE{+45 B Ay (SG-50A) 1
4985700099 |THRBLLEIHF vy 6
4989800094 |A AL 1
4989800135 |#REFER)—TP8 2
4987200002 |KBIEEF 1
EG11SCOL0000|#H 37 ERBRE GERE!) 1
*[EG11SCSLO050|#HL EREAE (L ER) 1
425 % 330 % 270 ( 20 keg)



